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(D

FAT ST A o M TRA- A H A5 192 |
Please check that this question paper contains 19 printed pages.

(I) A9 H I 819 ol AR A T F1-95 i ol qliedel§ SRl & @-98 |
fod |
Q.P. Code given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

(II)  FOATSIA RL  Toh 3 THA-TAH 24 TH € |
Please check that this question paper contains 24 questions.

(IV)  S9aT U9 T IR TTE@T 7% & & U8, STR-GRaent § o1 T W T9T &1
THATh A9 oW |
Please write down the Serial Number of the question in the
answer-book at the given place before attempting it.

(V) 39 Y-99 &l Ue o fT¢ 15 e =1 o8 fan T € | Soe-9 1 foraeor qaig o

10.15 s R ST | 10.15 59 & 10.30 ot o Tieeft Srefet SoA-97 1 0at 39
TH AT oh SR o IT-TRhT T g I el [T |

15 minute time has been allotted to read this question paper. The
question paper will be distributed at 10.15 a.m. From 10.15 a.m. to
10.30 a.m., the candidates will read the question paper only and will not
write any answer on the answer-book during this period.
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qraT=g 5597 :
(i)  FEAEHGET & A TG |
(i) SAYH-GAH 24 I3 4 21 YA 4 fquifSia & - @Ue & IR @us @ |
(i) TUBH H JEHS YR & Y94 &, STelleh TS & H [A5I9F JehR o I & |
(iv) TUTT (6 + 18) = 24 T¥1 4 G, ItHIgaR 1 3 ¥ & ATefed (ferhaq) G 4
(6+11) =179 % 3IWaT8 |
(v) Tl a9 @ue & gyt 3941 1 G&l 59 I & o1 79 13637 <7141 <1fa T |
(vi) TS : TEJIS TFER & T (30 37%F) :
(a) SATSH 6IHE |
(b) IS THRTHF 37 781 2 |
(c) QT 339 & SR FIfSTT |
(d) T J9H/97T & G AT el 1 i@ 1HI1 TAT 8 |
(vii) TUB @ : a9 JHR & J97 (30 3F) :
() SATUSH 18 Y3 |
(b) SHHIGAR F1 11 J3T FHE |
(c) Tag e f3aer & S17aR HIforT |
(d) Tca J9/4TT & GTHA ATe(ed 3ol 1 Iecid [HIT T 2 |
usg <h
(TETTES TR 6 TT) (30 i)
1. USTTR el W GU e 6 9941 | 9 foheel 4 o St diie | 4x1=4

G) frfaRad e ‘me’ T TR 2

She gave me a box.

(A)  di (Subject) (B) Tsmam (Verb)
(C) JegeT 4 (Direct Object) (D) A9gel &4 (Indirect Object)

(ii) Ufed TF G H YT (manager) € | % o Tget ol i 1T o 0T 58

I 397

GEMH (Upset), T8 (Annoyed) 3R 09T (Hopeless) & | 3Hh! 39 AGIT
(State of mind) =l frmfeTRaa soft & T AT ®

(A) AT (Criminal) (B) 99~dl (Happiness)
(C) B 91T (Inferiority complex) (D)  E&Td (Stress)

Page 2 of 24 I



e

=

General Instructions :

(1)
(ii)

(i1i)

(iv)

(v)

(vi)

(vii)

Please read the instructions carefully.

This question paper consists of 24 questions, in two Sections : Section A
and Section B.

Section A has Objective Type Questions, whereas Section B contains
Subjective Type Questions.

Out of the given (6 + 18 =) 24 questions, a candidate has to answer
(6 + 11 =) 17 questions in the allotted (maximum) time of 3 hours.

All questions of a particular section must be attempted in the correct
order.

Section A : Objective Type Questions (30 marks) :

(a)  This section has 6 questions.

(b)  There is no negative marking.

(c) Do as per the instructions given.

(d)  Marks allotted are mentioned against each question/part.
Section B : Subjective Type Questions (30 marks) :

(a)  This section has 18 questions.

(b) A candidate has to do 11 questions.

(c) Do as per the instructions given.

(d)  Marks allotted are mentioned against each question/part.

Section A
(Objective Type Questions) (30 Marks)

1. Answer any 4 questions out of the given 6 questions on Employability
Skills. 4x1=4

(i) What is ‘me’ in the following sentence ?

She gave me a box.
(A) Subject (B) Verb
(C) Direct Object (D) Indirect Object

(i1)) Rohit is a manager in an organization. Due to some bad incident a

I 397

few days ago, he is feeling upset, annoyed and hopeless. This state of
his mind is categorized as :

(A) Criminal (B) Happiness
(C) Inferiority complex (D) Stress

Page 3 of 24 P.T.O. I



5

) #

(iii) FEAIRGT & & -1 s G0 0o ThRIcHh Y (positive outlook) ST
TG T T AT & 2
(A) I M 3R T3 &1 (B) TATEIHT HISH
(C) B HARA M (D) HTfad Jreqfores S

(iv) T Tch W (Presentation) W 1 o &1 € 37 394 Uh SUST ol hidl
IERIEA L3 E'ﬁ?f 1 Paste & & 1%1? 39 H9-9 key combination CAR-CIE
1R ?
(A) Ctrl + P (B) ctrl + vV
(C) Shift + P (D) shift + V

(v) Tl I FSR G Fd T AT iR HisT aRiafar § o« g8 Sie 7=
WIW@WHW(Competency)aﬁ_ FETH JIHETIAETL |
(A) A (Laziness)
(B) fS1¥199 (Stubbornness)
(C) @t ufeem (Perseverance)
(D) ol o it &9aT (Decision-making ability)

(vi) F=fafaa @@ $i9-a1 g TRt (Green jobs) FT AR § 2
(A) ST IR STHT A o T &Rl T TaT ST
(B) ST SRIfrh! (IT) | Heifera 3Tfereh i ol gt i
(C) gﬁ'{‘g‘u:ﬁ (Solar fuels) % JINT o Tfd foIe Jehe AT
(D) Ui (Ecosystem) 3T ET&T0T 31T Eﬁ??ﬁq?[ |

2. fewwu 7y g @ fondi 5 o ST AT | 5x1=5

() @Y FIrd T (abilities) % 3D g eIfirer 9T (3D animated
educational content) dIR & & feiu F=feifad O @ -9 Hivea=® 1 J&mT

IERISIEIRC] U
(A) VirtualDub (B) Wax
(C) Moviestorm (D) AviTricks
(ii) Teh HATHATEH wiah, TS (editing), TIRITEST (encoding),

UMWY (animation) 3R g% Y9 (visual effects) < (tool) g S
Jahshaka technology W AT & 3R 3F|T|ﬁ T %F AT ‘5!@ Y
SEHTT T SpTe Fesieet R R Y S |

(A) VirtualDub (B) Wax
(C) Cinefx (D) AviTricks
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(iii) Which of the following is not a way to maintain positive outlook in
the long run ?

(iv)

(v)

(vi)

(A)
(B)
(®)
(D)

Physical exercise and Fresh air

Healthy diet

Not going out for vacations

Organised academic life

Ramesh is working on a presentation and has copied an image. Which

key combination should he press to paste the image ?
Ctrl + P
Shift + P

(A)
()

(B)
(D)

Ctrl + V
Shift + V

An entrepreneur should continue to work hard and never give up, even
in difficult situations. This competency of an entrepreneur is known as

(A)
(C)

Which of the following is an importance of Green jobs ?

(A)
(B)
(C)
(D)

Laziness

Perseverance

(B)
(D)

Stubbornness

Decision-making ability

Identify more areas to dump waste

Creating more IT-related jobs

To protest against the use of solar fuels

Protecting and restoring the ecosystem

2. Answer any 5 out of the given 7 questions.

(1)

(i1)

I 397

5x1=5

Which of the following software should be used to create 3D animated
educational content for all abilities ?

(A)
(C)

VirtualDub

Moviestorm

(B)
(D)

Wax
AviTricks

is an offline playback, editing, encoding, animation and

visual effects tool based on the Jahshaka technology that allows you
to create professional digital media on your desktop.

(A)
(®)

VirtualDub

Cinefx

(B)
(D)

Page 5 of 24
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(iii)

(iv)

(v)

(vi)

(vii)

3. feuwu 7ysai 49 fordl 6 & S ST |

(1)

I 397

Teh ATAE T SUANTeRdT $2T%H (graphical user interface) ® S
IFF keyboard shortcuts T SUANT Hd g Ilfﬁ ®Ied (movie files) &l
ufsfdT (editing) & fo RE A0 T (fine programs) 3T TN AT # |
(A) Moviestorm (B) Movica

(C)  VideoSpin (D) Aviedit

A FB A forTed 1 I i g T difea s % T Windows
Movie Maker 3T S X T&T & | 98 foRAT (clip) T T title (IfdeR) <1 =mear
2 1 T title foa = & R o & fa@m 1 =R | 38 I% title T W T

=1 ?

A)  frwF R H (B) Helloh yiw H

© whHEi D) frmHTR

FATH (movie) AT G & ToRelT o o WY & /AT 3909k 31d 8 Fo e
T Hohd & | 6 WshAT ohl 9T el ST & 2

(A) Splitting the clip (B) Trimming the clip

(C) Overlaying the clip (D) Hiding the clip

Windows Movie Maker H 80 WMV HiHZ H movie (ﬂﬁ) THTIRTT L Hehd B |
afeafiie see (acronym) WMV W@WW |

GIF images % SR # fFAfRaa # a wH-on ot 78t & 2

(A) GIF images 256 TV T gL LA § |

(B) GIF images i€l FEIIA qe 1 (lossy compression technique)
T YN LT € |

(C)  GIF % i g8 U8t CompuServe J AU ST |

(D)  GIF images ! &1 @it ITftherd TTUTHT | WAT ST EehdT ¢ |

SIfRR 7 <object> tag T SWIM Fd g FFfiRad 4 & Web page ¥ Th
Audio File 3 :¥fUd (embedded) FI & :
<object> <param name= "src" value="123.Mp3"> </object>

IE IEaT & I page%load@ﬁﬁ%%ﬁ‘ﬁmﬂ“@am RUESAEASSIES
5!1@35@3?[ <param> tag AT d1i% page %load@ﬁﬁwlﬁm‘{&_ﬁ
ST |

Page 6 of 24
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(iii) is just a graphical user interface that uses some fine
programs to edit movie files using lot of keyboard shortcuts.
(A) Moviestorm (B) Movica
(C)  VideoSpin (D) Aviedit

(iv) Atul is using Windows Movie Maker to create a video using some
video clips. He wants to give a title on a clip. The title should be
visible for the entire duration of the clip. Where should he give this
title ?

(A) At the beginning of the clip
(B) At the beginning of the movie
(0] At the end of the movie

(D) Title overlaying the clip

(v) While creating a movie we can remove some portion from the
beginning and/or the end of any clip. What is this process called ?

(A) Splitting the clip (B) Trimming the clip
(C) Overlaying the clip (D) Hiding the clip
(vi) In Windows Movie Maker we can publish a movie in WMV format.
Write the full form of the acronym WMV.
(vii) Which of the following is not correct about GIF images ?
(A) GIF images support 256 colours.
(B) GIF images use lossy compression technique.
(C) GIF format was first popularized by CompuServe.
(D) GIF images can be opened by almost all graphics programs.

3. Answer any 6 out of the given 7 questions. 6x1=6
(i) Xavier has embedded an audio file in a web page using <object> tag
as follows :
<object> <param name= "src" value="123.Mp3"> </object>

He wants the file to start playing as soon as the page loads. Write the
appropriate <param> tag to be included so that the file starts playing
as soon as the page loads.
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(i) fr=fafad 39 video file EARESIERCA IS
(A) Pic.wav (B) Pic.svg
(C) Text.mp3 (D) Text.mp4
(iii) f=fafad @ vector file BiHe 6l yg=H ST :
(A) .gif B) .jpg
(®) .eps (D) .tga

(iv) 39 % U . avi 3R .mov, I &l TCHT-3T Bl § U Tt B1ed & | 374
T FI-4t Apple QuickTime movie g ?

(v) Trfafed # ¥ 991 e 9 839 (Sun workstations) T dAfea
(Native) & ?
(A) .au (B) .mid
(C) .mod (D) .snd

(vi) U A H g0 qHe T € W] AdHISAT Bise B §
IAT/IERTT T &THAT FGH & fTTT WWW browser & 376t § 3! 99T
(Refer) ST |

(A) S UfteTahsd (Helper Applications)
(B) g2 STSs (Internet Browsers)
(C) AT-39 (Plug-ins)
(D)  Hifean w157@ (Media Files)
(vii) WHAM U= T 3T 2 ST JI8d Jh shl 918-€ H1eed (sound
files) WY FAT 2 | )
(A) SI3SI (Browser)
(B) TR Uty (Helper Application)
(C) TAT-89 (Plug-in)
(D) AT ferew (Operating System)

4., feuu 6 g 9 forgl 5 o ST AT | 5x1=5

(i)  3Afeafile 3¢ (acronym) MIDI wqﬁww% ?

(A) Musical Instrument Digital Interface
(B) Musical Instrument Dynamic Interface
(C) Musical Interface Digital Instrument
(D) Media Instrument Digital Interface

(i) HTML5 difed 1 3tfershad @9 3o o fog g dfifsar =i i wfcei
(variants) ﬁﬁ'ﬂ'l’(WT‘E‘dT% | Uk variant H. 264 2 | 37 2 variants %
M9 Sd1ET |
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(i1) Identify the video file from the following :

(A) Pic.wav (B) Pic.svg
(C) Text.mp3 (D) Text.mp4
(iii) Identify the vector file format from the following :
(A) .gif B) .jpg
(C) .eps (D) .tga
(iv) Ashraf has a movie file in two different formats — .avi and .mov.

Which of these is an Apple QuickTime movie ?

(v)  Which of the following formats is native to Sun workstations ?

(A)  .au (B) .mid
(C) .mod (D) .snd
(vi) are programs which can stand on their own but are

referred to from within a WWW browser to enhance its capability to
play/display multimedia file formats.

(A) Helper Applications (B) Internet Browsers
(C) Plug-ins (D) Media Files
(vii) WHAM is example of a/an that plays many types of
sound files.
(A) Browser (B) Helper Application
(C) Plug-in (D) Operating System
4. Answer any 5 out of the given 6 questions. 5x1=5

(i) The acronym MIDI stands for :
(A) Musical Instrument Digital Interface
(B) Musical Instrument Dynamic Interface
(C) Musical Interface Digital Instrument
(D) Media Instrument Digital Interface

(i1) To make the most of HTML5 videos, we have to prepare the video in

three variants. One variant is H.264. Name the other two variants.
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(iii) 9 &9 ¥ oQ T BiEd (external JavaScript file) T TFHEIH
(extension) FTE ?
(A) .Jsc (B) .3s
(C) .jsf (D) .jss
(iv) F=fafad JavaScript expression &1 H_\EI'IEIFT Fifsre 3 3ot value (H)
odisu :
6 + 18 $ 4 * 3
(A) 24 (B) 12
(C) 0 D) 1

(v) T=fafaa JavaSeript code FT output T BT 2

document.write (parseInt("110",2));

(A) 110 B) 2
(C) 4 (D) 6
(vi) amt A% Tsh variable CARGE] aﬂ(value) feu feI = (Declare) 4 & for
JavaScript Statement feTfau |
5. feume 6w A @ fohei 5 & s v | 5x1=5
(i) JavaSecript ¥ fr=feRaa TIHT (Statement) <4 o &1 HAT3YLE (output) T
BT ?
console.log(-10/0) ;
(A) Infinity (B) —Infinity
(C) NaN (D) Error

(i) T=faRad loop ferat s = ?
for (i=5; i<=10, ++i)
document.write (i) ;

(A) 4 B) 5
(C) 6 (D) 7
(iii) TA=IcTREd § & -6 TT SR (comparison operator) T&T & ?
A) <= B) =
Cc = D) <

(iv) @9 (A) : JavaScript § NaN fosT=h (Toxic) B |

% (B) : JavaScript § %9 NaN +15 T output NaN &1 |
(A)  FIF(A) AR FYT (B) ST HET & |

(B) % (A) TR HYT (B) SHI T & |

(C)  F¥F(A) TR 8 AN HF (B) Tord & |

(D) A (B) €2 & AR FHIH (A) TAd 2 |
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(iii) In general, what is the extension of an external JavaScript file ?

(iv)

(v)

(vi)

(A)
(C)

.jsc B) .js
.jsf (D) .jss

Evaluate the following JavaScript expression and write its value :
6 + 18 $ 4 * 3

(A)
(C)

24 (B) 12
0 (D) 1

What will be the output of the following JavaScript code ?
document.write (parseInt("110",2));

(A)
(C)

1
4

10 (B) 2
(D) 6

Write a JavaScript statement to declare a variable, named amt,

without assigning any value to it.

5. Answer any 5 out of the given 6 questions.

(1)

(i1)

5x1=5

What will be the output after the following statement in JavaScript
is executed ?
console.log(-10/0) ;

(A)
(C)

Infinity (B) —Infinity
NaN (D) Error

How many times will the following loop run ?
for (i=5; i<=10, ++i)
document.write (i) ;

(A) 4 B) 5
(C) 6 D) 7
(iii) Which of the following is not a comparison operator ?
(A) <= B) '=
Cc = (D) <

(iv)

I 397

Statement (A) : NaN is toxic in JavaScript.
Statement (B) : The statement NaN +15 in JavaScript will return the
output as NaN.

(A)
(B)
(®)
(D)

Both statement (A) and statement (B) are correct.
Both statement (A) and statement (B) are incorrect.
Statement (A) is correct and statement (B) is incorrect.
Statement (B) is correct and statement (A) is incorrect.

Page 11 of 24
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(v) dJavaScript ¥ 154.94 WWW@W (expression) %I'F@Q |
(vi) %WGR?\D[ (content) T M % foTe @ §919 (Search engine)
IS ol ShITeAT (crawling) A & |
(A) Web pages (B) Index
(C)  Images (D) SEO
6. TeUIT 6 WAl 1 © fohegl 5 % IT AT | 5x1=5

i) S EE (Open source) WYSIWYG HTML U &1 9 a5 St W3C’s
Web T o 3TET 2 |

(ii) 3~1d FEH FHHISH (custom commands) 3R fafRTs fowrareTs
(features) SR T&A TIHTH hl HFHaT ! 9¢Td & |
(A) Add-ins (B) Snippets
(C) DWTs (D) Menus

(iii) Web designing #d 0g I8 faQivdT (feature) d& 3UTsY Bl ®, & 39
Code View H %H d & | I8 Teh U8RI & &U H &d: & g R Ufdsqed
(attributes) 3 Tt HTIhH! JEH FT & | 36 Fa=IVaT (feature) T ATH SAT3T |

(A)  FehisT (Cookies) (B) TS-EH (Add-Ins)
(C) EéFﬁ'@'H (Intellisense) (D) ﬁmaﬁéﬁﬁwqﬁ%
(iv) IIS e o1 qU1 &Y s[dT5T |
(v) Search results (@Tﬂ tl"f{'ffl'l'lir) feEd gm TG UfHAT o 3|®|H|s¢ ED) Il
(visibility) 3T T Te7Tfera Bt @ | 39 IR (process) 1 FT FEd & ?
(vi) WEI/ATAd Sdrsy
gfd DWT &l 319ee (update) foram Siar & @t de@mEe & @uft 9 <1 (Web
Pages) 1 &@d: & 39S (updation) B SITATE |
LCLERC)
(Fereaaes uv) (30 37eh)
TSR hIeTe W U TT 5 T | 9§ fohrel 3 o It SISTT | Teieh U9 T ST 20 — 30 YIeaT
difsie | 3x2=6

7. TR HHT (ST W G HsHT ST I GEAT <RI & | Hisha S0l o 7= AR =N 6
T SaTsY | 2

I 327 Page 12 of 24 I



e

. #
=
(v) Write an expression in JavaScript to round 154-94 to the nearest
integer.
(vi) Search engines crawl a website to create the of content.
(A) Web pages (B) Index
(C) Images (D) SEO
6. Answer any 5 out of the given 6 questions. 5x1=5
(i) Name the open source WYSIWYG HTML editor which complies with
the W3C’s web standards.
(i1) extend the capability of the main program by adding
enhanced custom commands and specialized features.
(A) Add-ins (B) Snippets
(C) DWTs (D) Menus
(iii) While web designing, this feature is available when you work in Code
View. It automatically provides you a list of codes and attributes as a
pop up. Name this feature.
(A) Cookies (B) Add-Ins
(C) Intellisense (D) No such feature exists
(iv) Expand the term IIS.
(v) This process affects the website visibility or ranking when displaying
search results. What is this process called ?
(vi) State True/False :
If a DWT is updated, all web pages in a website are automatically
updated.
Section B
(Subjective Type Questions) (30 Marks)
Answer any 3 questions out of the given 5 questions on Employability Skills.
Answer each question in 20 — 30 words. 3x2=6
7. ‘Receiving’ is the first stage of Active Listening. Name the other four
stages of Active Listening. 2

I 397
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8. U fthea fa%R (Dependent Personality Disorder) aTd &

fafsre safireeqor (characteristics) odrsq |

9. S&dl Th wiesfle (Spreadsheet) W F @2 | 98 Cells B2 3 ¢2 & I
(sum) T FUFAT Cell D2 H T AR ® | 360 e 369 Fe=feafad oot (Image) #
fe@Te Y ST e =l SiafE s &t € | wq W AN o S Cell D2 H B2+C2 text

THET &R |
D2 vV i x v fx B2+C2
A B C D

1 Sno. Valuel | Value2 Total

e 1 5b 12 B2+C2

3 2 36 13

4 3 12 18

5 4 17 14

(%) Cell D2 H FT Ger fora ST =fey e Tuféra 2 wma &t 2

(@) 3T R T 71T BT &I Cell D2 & Cell D3 | HIHT (copy) T ST, A1 78
D3 ﬁwaﬂ(value)maﬁ"ﬂ?

10. T 9% JeH o hIg =R 07 9aqTsT |

11. F=faRad &= (sectors) H fereal a1 gRd TUSFIRT (Green jobs) & T 13T ;

() 3E AUMRTE Y&eq (Solid Waste Management)

€E)) ?flg"ﬁif (Agriculture)

few a5 9o § 9 forel 8 % 3T 20 — 30 Teei H ST |
12. 99 IS (Web Pages) T AedHIfaT (Multimedia) 3T 520 s o foheel &1 BIIel s

Wy HifST |

3Ix2=6

13. SETEFe (JavaScript) & &8 § Event Handler s =@t Shifsie | fordt o« U=
(Web Page) W ffiiad 9eT¢ (events) e gfed 8Idl 8 ?

(%f) onMouseOver

I 397
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8. Give any two characteristic traits of a person with Dependent Personality

Disorder.

9. Jahanvi is working on a spreadsheet. She wants to calculate the sum of
cells B2 and C2, in the cell D2. For this she has entered the formula as
shown in the following image. But, instead of the sum, she is getting the

text B2+C2 in the cell D2.

D2 vV i x v fx  B2:C2
A B C D

1 | Sno. Valuel | Value2 Total

2 1 55 12 B2+C2

3 2 36 13

4 3 72 18

5 4 il 14

(a)  What correction should be made in the cell D2 so as to get the

desired sum ?

(b)  If the corrected formula is copied from cell D2 to the D3, what value

will it show in D3 ?

10. Write any four qualities of a successful entrepreneur.
11. Name any two Green jobs in the following sectors :
(a) Solid Waste Management (b) Agriculture
Answer any 3 out of the given 5 questions in 20 — 30 words each. 3x2=6
12. Explain any two advantages of using Multimedia on web pages.
13. Define Event Handler with respect to JavaScript. When do the following
events occur on a web page ?

(a) onMouseOver

I 397

(b) onLoad
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14. 2fag 7 1 @ 20 q it oft fowr Fenett (Odd numbers) 1 5T 3 & fow
f=fafad JavaSeript code%’@ﬂ@@aﬁﬁ%w&qﬁ@mﬁq?{@%lw
AT 1 ek Lo hig G fefeht Sferg st #eg =hifSY difeh shig suferd oo o
Heh | (fope g afl g sht Wiferd <hifST) 2
num==1
While (num<=20)

(

document.write (num,

w ");

num=+2 ;
)
15. JavaScript H§ WHITE & &9 # 19 ST ol TR I 9l function i fafaw |
Ife 37 1T TEIAT T AT 50 ATk I, O function T ITeRT INT 9199 (return) T
é‘—lTﬂT%Q, ITIAT function skl ITRT product 9MH (return) T 1y | 2

16. *QYMT Microsoft Expression Web =1 TN Fd gL Th éil'{:l'ls?f (website) IR
@I 2 | 384 DWT ¥ % Pages U (attach) & AU € | 379 98 DWT ¥ 34 @+t o
IS (web pages) 1 I AT =Tt & | DWT & @xff web pages i AT A &

T (steps) ! TGt T@E™T T Heg I | 2
faw e 3wt H | formel 2 % I 30 — 50 Weal H T | 2x3=6
17. Windows Movie Maker & Storyboard view 3R Timeline view & = ‘chﬁé d=

AL IAIRT |
18. Tr=fafaa asft Array methods %wﬁ%aﬁﬁw :

(k) concat() (@) join() (T) shift()

19. JHTES (Website) IR 3 o HeW H RAUH (Snippets) T & ? JeHIES IR G §
%ﬁ?\'\q (Snippets) g @& 3wt 7 2 %ﬁ'{ﬁ (Snippets) 1 ®g a AfET
(categories) sIdTsC | 3

few T 5 gt ° @ fordi 8 3% 3T 50 — 80 st 1 T | 3Ix4=12
20. (%) T ! ferere F (Splitting a clip) T RIT af7?

(@) F18H Windows Movie Maker ¥ T Audio clip &1 split & Hehd & ?
(M) Clip F split F & LH (steps) Fl TdT3T |

Y ~ ~
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14. David wrote the following JavaScript code to display all odd numbers from
1 to 20. The code is not working due to some errors. Help David by
rewriting the code after correcting all the errors so that the code gives the
desired result. (Underline all the corrections made) 2
num==
While (num<=20)
(

document.write (num," ") ;

num=+2;

)

15. Write a function in JavaScript which accepts three numbers as parameters.
If the sum of these numbers is more than 50, then the function should
return their sum, otherwise the function should return their product. 2

16. Rukhsana is developing a website using Microsoft Expression Web. She has
attached some pages to a DWT. Now she wants to detach all these web
pages from the DWT. Help Rukhsana by writing the steps to detach all the

web pages from the DWT. 2
Answer any 2 out of the given 3 questions in 30 — 50 words each. 2x3=6
17. Write any three differences between Storyboard view and Timeline view of

Windows Movie Maker. 3
18. Write the purpose of each of the following Array methods : 3

(a) concat () (b) join () (c) shift ()

19. What are Snippets with reference to Website development ? How are the
snippets useful in website development ? Write any two categories of

snippets. 3
Answer any 3 out of the given 5 questions in 50 — 80 words each. 3Ix4=12
20. (a) What is meant by ‘splitting a clip’ ? 1

(b) Can we split an Audio clip in Windows Movie Maker ? 1

(c) Write the steps to split a clip. 2
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21. (h) YouTube video I web page T 3T (embed) FH & Ll (steps) Eal
ELIE
(@) Web page T Nature .mp4 ™% Th HTMLS dAifeat 398 (insert) FH &
T <video> tag &1 3TN A g HTML code SdTsT | T (player) &t
TS 3TN STS ShATT: 200 pixels 3T 300 pixels BT AT |
22. (%) Math 3ATsSidE (object) T ITART FAd Y A A(BF TAT (random
numbers) I % fow J avaScript code fafam | TG o1 Code hl SIS
foeer (browser window) T T dH e-ilc,glr\T»@Oh T (random numbers) *
el 9IS 3T T SIS 3ok ol YSRId AT AT |
@) JavaScript  Array object 3T T SUTT & ?
23. T JavaScript code forfaw s IS (user) q Th ﬁi”T §TYS a1 IR Ffafaa
T D
. String ﬁﬁaﬁﬂﬁﬁh‘cﬁ |
. :::'j;lﬁg (entered) string ¥ "the" text % fa@d & ffa (position) J&ffa
|
. jﬁ#' FAT 'a’ ﬁﬁﬁ@ﬁﬂﬁﬁ(occurrences)aﬁwwqé stringEIEﬁﬁ?[
|
24, = ﬁ:’q T JavaScript e ATHE (code segment) Ca) éﬁ@? IR ‘?@ e T4 T I
IS

<script language = JavaScript>
function calc(Al, A2)

{

if (Al > A2)
Al = A2 * 2;

else
Al = A2/2;

document.write (Al, A2);
}
</script>
<body>
<button onclick = "calc(5,6)"> Try </button>
</body>

(%) ¥ code T TNUMH (output) JATST |

@) if...else statement & S8 eI AT (Conditional operator) bl
SN L §L FH T T code ! I: feARaT |
() IAHH a3 g0 Yef¥id s & it statement faafRgu |
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21. (a) Write steps to embed a YouTube video into a web page.

(b) Write HTML code using <video> tag to insert an HTML5 video,
named Nature.mp4, in a web page. The height and width of the
player should be 200 pixels and 300 pixels respectively.

22. (a) Write a JavaScript code to generate three random numbers using
Math object. The code should then display the largest and the smallest
of these three random numbers in the browser window.

(b) What is the use of an array object in JavaScript ?

23. Write a JavaScript code to input a string from the user, and do the
following tasks :
o Display the length of the string.
o Display the position of occurrence of text, "the" in the entered string.
o Replace all occurrence of 'a' with '#' and then display the new

string.

24. Observe the JavaScript code segment given below and answer the questions
that follow :
<script language = JavaScript>
function calc(Al, A2)

{
if (Al > A2)
Al = A2 * 2;
else
Al = A2/2;
document.write (Al, A2);
}
</script>
<body>
<button onclick = "calc(5,6)"> Try </button>
</body>

(a) Write the output of this code.

(b) Rewrite the given code by using the conditional operator instead of
if...else statement.

(c) Write the statement to display current date and time.
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